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PHYSICAL EDUCATION
Paper III

IR forer
gyurent 111

Time Allowed : 2% Hours]
Note : This Question Paper contains Seventy Five (75) multiple choice questions,
each question carries Two (2) marks. Attempt All questions.

GOl : A YA THY UeewX (75) dguae Ued foel ofed. Ui TR | (2)

U SRd. @E U Wi

[Maximum Marks : 150

1.

Week Sets Repetitions Load Rest
(kg)  (s)
1 2 10 60 40
2 3 12 65 35
3 4 14 70 30

Which of the following training
principle is best illustrated in the
above program ?

(A) Specificity

(B) Reversibility

(C) Adaptability

(D) Overload

Which of the following factors should
be considered while preparing
interval training program ?

(1) Intensity of training interval
(2) Duration of recovery interval
(3) Repetition of load

(4) Progression of each training
Select the correct option :

(A) (1), (2) and (3) only

(B) (1), (2) and (4) only

(C) (1), (3) and (4) only

(D) (2), (3) and (4) only

1. Bdel H9 IMadd  HR fagidr

kg) (s)
1 2 10 60 40
2 3 12 65 35
3 4 14 70 30

R feoTet Hfeneror shdeny shivrean HiRreqor
TETR SR 3R ?
(A) fafersean
(B) WfqmHan
(C) STIhetd
(D) 3fYIR
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(1) wf¥reror gt dierd
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(3) YR 3T
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(A) & (1), (2) 20T (3)
(B) e (1), (2) 0T (4)
(C) W (1), (3) 3TfUT (4)
(D) e (2), (3) MU (4)
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When dribbling a soccer ball in a
restricted space, the player should
attempt to do all of the following,

except :

(A) Keep the ball close to the feet

(B) Stay in a slightly crouched
position

(C) Use body feints and changes of
speed

(D) Use only the dominant foot for

better control

Which of the following is not the

objective of intramurals ?

(A) A game for each and each for

the game

(B) Spotting of local talent

(C) Event Management experience

(D) Selection of Institute Team
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The highest percentage of gas
available in the exhaled air is :

(A) Carbon dioxide

(B) Oxygen

(C) Nitrogen

(D) Hydrogen

Match List I with List IT and select

the correct answer from the codes

given below :
List I
(1) Hockey
(i1) Football
(111) Tennis
(iv) Cricket
List II
(1) Ranji Trophy
(2) Agakhan Cup
(3) Subroto Cup
(4) Davis Cup
Codes :

@ @ @) ()
A 2 8 @ (1)
B) @ B 2 (1)
<€ 3 O @ (2)
M 1 @2 @ 3)
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Chronic injuries are treated by :
(A) Infrared

(B) Ultratherapy

(C) Ultrasonic

(D) Ultraviolet

Which of the following are the
benefits of having strong skeletal

muscle ?
(1) Protecting the joints

(2) Maintaining appropriate

posture

(3) Enhancing cardiorespiratory

endurance
(4) Improving sports performance
Select the correct option :
(A) (1), (2) and (3) only
(B) (1), (2) and (4) only
(C) (1), (3) and (4) only

D) (D), (2), (3) and (4)
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10.

Pre-trainings and post-trainings data
are collected from two groups under
study. Which statistics is to be used

to see the effect of training ?

(A) ¢ test

(B) ANOVA

(C) ANCOVA

(D) z-test

Fifteen players of a cricket team
want to shake hand with each other.
The number of shake hands will

be :

(A) 105

(B) 104

(C) 14

(D) 15

10.
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11. The objectives of supervision

and control in physical education

is :

(1) To improve the working of

individuals

(2) To evaluate the achievements

(3) To check the quality of work

(4) To find faults and complain to

higher authorities

The correct code combination is :

Codes :

A) (1) (2) and (3)

B) (1) 3) and ()

C) 2 B and @)

D) 1) 2) and @)
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12. Which of the following is not a

13.

criterion of a profession ?

(A) Performance of service to

public

(B) Collaboration with

international organisation

(C) Based upon scientific

knowledge

(D) Highly specialised and formal

preparation

From the following identify the
one which is not included in
the structure of Basic Sport

Management ?

(A) Tournaments

(B) Sport Scholarships

(C) Teams

(D) Clubs

12.

13.
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14. Given below are two statements

one of which is labelled as
Assertion (A) and the other is

labelled as Reason (R) :
Assertion (A) :

As the sports has evolved into a
complex multibillion-dollar global
entity, law has played a more
dominant role in carrying out
management functions in sports

organizations.
Reason (R) :

When sports managers make
decisions, disagreements arise, those
working and participating in sports
are relying more heavily on the legal

system for a resolution.

Select the correct answer by using

the codes given below :
Codes :

(A) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(B) Both (A) and (R) are true

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

MAY - 71316/II1—D

14. fooien TH aEAel T faam™ (A) 9

T &R0 (R) T8
faam™ A) :
el o= faeH gl wEem

UM YfHeRT TS HROH hisl o W

B 3T TS Slarddl SINTIqeh el WU
faerfaa omel oTR.

Ut (R)

el SFaETe o Sard, qave fato
B, 3T bl W THwarEet wier

HEOTF "Argar yATIMER  fasfEwe=n
YR BT,

arel fodean Sahdrea dva g3t
IREEINE

SO
(A) (A) ¥ (R) T8 9 35 g (R)
T (A) 9 I TSRO AEI

(B) (A) 9 (R) T TA 3Teq

(C) (A) B 3T YA (R) § ¥
3TmRa

(D) (A) ¥ ¥F 3T}, R (R) T 39
3eq

10



15.

16.

Which of the following is against the

Principles of Organisation ?

(A) Proper decentralization

(B) Delegation of Power

(C) Overlapping

(D) Proper communication

The philosophy which emphasizes

the mind as central to
understanding and reasoning and
plays a critical role in arriving at

the truth is :

(A) Idealism

(B) Pragmatism

(C) Realism

(D) Naturalism

15.

16.
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17.

18.

The Commissioners of Indian

Premier League (cricket) were :
(1) Lalit Modi

(2) Rajiv Shukla

(3) Sunil Gavaskar

(4) Jagmohan Dalmia

The correct code combination
is :

Codes :

(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1), (2) and (4)

(D) (1), (3) and (4)

Which is the correct combination of

‘Cards’ wused in Badminton
officiating by the umpire ?

(A) Black and Yellow

(B) Yellow and Red

(C) Red and Green

(D) Yellow and Green

17.

18.
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19.

20.

While judging off-side in Football,

the refree should not consider

whether :

(A) The head of the player is ahead

of the second last defender

(B) The hand of the player is ahead

of the second last defender

(C) The leg of the player is ahead

of the second last defender

(D) The torso of the player is ahead

of the second last defender

The PE teacher supervises as
students experiment with different
start positions for a forward roll. This

style of teaching is known as :
(A) Command

(B) Convergent discovery

(C) Reciprocal

(D) Practice

19.

20.
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21.

22.

Number of teams in the lower half
when odd number of teams
participate is calculated using which

formula ?

A D1
@ 5

N+1
2

(B)

N -1
2

(C)

DE+1
D) 3

Which method is used to teach mass
Surya Namaskar to elementary

students ?

(A) Part method

(B) Imitation method

(C) Whole part whole method

(D) Oral method

21.

22.
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23.

24.

Stress is :

(A) Advantageous to the player

(B) Both advantageous and

detrimental as per the situation

©)

Detrimental to his abilities

(D) Neither detrimental nor

advantageous as per the

situation

Who said, “I think therefore I

am” ?

(A) Descartes

(B) Plato

(C) Aristotle

(D) Rousseau
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25.

26.

The rate of progress in learning
slows down and reaches a limit
beyond which futher improvement

seems impossible is :
(A) Plateau
(B) Loss of interest
(C) Boredom

(D) Difficult stage

The sequence of strokes to be
followed in swimming an individual

medley event should be :
(1) Butterfly stroke

(2) Back stroke

(3) Breast stroke

(4) Free style

The correct code combintaion is :
Codes :

@ QO @ 6 @
B2 & @ @
© 6 O @ @
M @ 2 @ O

25.

26.
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27.

28.

Knowledge and theories in the

sociology of sport enables us to :

(A) Discover ultimate truths about

the role of sports in society

(B) View sports from multiple

perspectives

(C) Predict how athletes and teams

will perform under pressure

(D) Eliminate the causes of serious

injuries in sports

“Student participates in an aerobics
class to the rhythm of 120 bpm.”
The above example of student

objective does not include :
(A) Behaviour
(B) Condition
(C) Criterion

(D) Aim

27.

28.

MAY - 71316/II1—D

SISl FHSRITE=A 1 o fagraes §
e B WHA

(A) FANE wiee yfyshea sifaw

g Y

(B) hiSshe UBUATE 3Tk giteehld

(C) qUETEne Tag 9 99 &Y wE

HIAE I AR

(D) whiedid TR g@mddi=l RO g

HL0

“feemeff 120 &t fTE. A1 AR Tifees

FEHE FEar B’

IO AT SEMEd Y=l HE
ARl ?

(A) oA
(B) uftfeerdt
(C) =y

(D) =9

17

[P.T.O.



29.

30.

In which of the following activities
will a student work on his gross

motor skills ?

(A) Tossing a Volleyball
(B) Climbing stairs

(C) Shooting

(D) Putting a Golf ball

Make the correct choice from
Assertion (A) and the Reason (R)

given below :

Assertion (A) :

Planning is the thinking before
doing.

Reason (R) :

Planning is laying down the

projected course of action.

Select the correct statement from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) i the
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

1s not correct

29.

30.
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31. Arrange first day order of events in

men decathlon with the help of codes

given below :

(1) 400 mts run
(z1) Long jump
(ii) High jump
(fv) 100 mts run
(v) 1500 mts run
(vi) Shot put
(vii) Javelin Throw
(viir) Pole Vault
(ix) 100 mts hurdles

(x) Discus throw

Codes :

A) @) @) @) @) @
B) @ @ @) @ o)
(C) () (i) @) (o) (@x)
D) @) () i) x) @)

MAY - 71316/II1—D
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32. Which of the following is called a

33.

pressure manipulation ?

(A) Stroking

(B) Clapping

(C) Kneading

(D) Pounding

A stopwatch measures time. This is

an example of :

(A) Face validity

(B) Predictive validity

(C) Content validity

(D) Concurrent validity

32.

33.
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34. The maximum quantity of this

35.

nutrient in the diet of small children

should be :

(A) Protein

(B) Carbohydrate

(C) Minerals

(D) Vitamins

A long distance runner finds it
difficult to maintain pace after the
third quarter of the run. Identify the
most appropriate test to measure his
cardiorespiratory endurance from

the following :

(A) Cooper 12-min Run walk test

(B) Harvard step test

(C) Multistage run (20 m) test

(D) 1 mile run test

MAY - 71316/II1—D

34. AT HATSAT MERTA T T=TECH

35.

Haifeer JHOMG 379

(A) wfom

(B) fuseqa uered

(C) @

(D) S

Gr\lbeQ‘Q’PJIWI Uen] EIIOI“I;_\H PICMIIE
M SURITER0T SUERYYT ATSTOITETS

I HHE A WA

(A) HW 12 4. gEv-=rero HEe
(B) TS WU FHE

(C) Afee®Rs W (20 #I) HHE

(D) 1 HdA grEu HHEET

21
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36. Which one of the following pairs is

not correctly matched ?

(A)

(B)

(C)

(D)

An indepth — Case Study

study of one

or more individuals

Observation = — Observation
of Behaviour Methods
Assessing — Correlation
degree of Methods
relationship

between two or
more variables
Study of cause — Survey
Methods

and effect

relation

MAY - 71316/II1—D

a2

(A) Ts foper sme —

el T

SIESIN

(B) o< fadteron

(C) T fopan s —

SERICRENEL

(D) HEHRR

36. TEIGTUeh! IVl SISrEl S[eedvil A

AT

T eroragdt

T

S RIS

T &TTaGt
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37. Given below are two statements one 37. fadew < IEEdE T UM (A) TR
labelled as Assertion (A) and the R) s
9 0T :
other labelled as Reason (R) : A (R)
Assertion (A) : Review of faem (A) : g A=
literature should R CIECEEI] @ TrfecrET
be referred for ) . .
_ _ SECIRCRGISIGIA
interpretation of
results of a study. &RUT (R) : Sofurfecargs deiem
Reason (R) . Review Of lite- SIEAT RIGLE {\.\{qur:-qoh
t id
rature provides N
the knowledge
base of a research I Sl Taemren ey Trel foaen
study. AR iUl AT qHT 3TE 2
In the context of the above two
statements, which one of the Hehdllh :
. . ?
following code is correct ? (A) B (A) 9 (R) ¥ o4, 9 (R)
Codes : 7 (A) ° fogs w=etn oe
(A) Both (A) and (R) are true and
(R) is the correct explanation (B) @A) T ®) q, T
of (A) (R) B (A) = forTeeh Taeiertun et
(B) Both (A) and (R) are true but (C) (A) & TF T2, T (R) ¥ =15
(R) 1is not the correct
. 318
explanation of (A)
(C) (A) is true but (R) is false D) (A) ¥ 3\A 3%, 997 (R) T TA
(D) (A) is false but (R) is true e
23 [P.T.O.
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38. Match List I with List IT and select | 38. 4t I & @<l II a3 ara waia et
the correct answer from the codes feered {-iq‘:)qichp-r&f-[ faeT
given below : a1

List I
(@) T
(z) Obesity
(i) YoftEan
(z1) Linearity
(ii1) SIIHTOTAT
(z11)) Muscularity
(iv) Aafeehdl
(tv) Flexibility
B |
List II
(1) fogimtet
(1) Mesomorphy
9) T
(2) Endomorphy @
. 3) T
(3) Goniometry
(4) Ectomorphy @) T
Codes : Handien :
@ G) i) ) @ @ @) @)
@“ @ @ O Q@ @ @O 6
B) @ Q) O (2) B) @4 QO O (2)
<©c @ 3 @ 4) © @O B (@ 4)
M 3 @ @ @ D B 2 @ @

24
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39. Match List I with List II and select | 39. 3l I 9 AT II S[eegd Ard T @ITett

the correct answer from the codes feerea gq;qichmaf[ ECEIR
given below :
grat 1
List I
(i) =9 few wHdred
(z) Bass Stick Test
(i) =4l G

(21) Burpee Test

-~

(1ii) Hhad AR

(zit) Mcloy Test

CORESE T IC]
(tv) Bridge-up Test
ot 11
List II
(1) wafaehar

(1) Flexibility

i . (2) SNYHS HAATIUN
(2) Cognitive aptitude

3) Agility @®) Temrrger
(4) Balance (4) T
(5) Strength (5) ks
Codes : Hehdleh

@) Gi) Gi) (o) G G Gi) (o)
A @ 3 BG) @ A @ 3 6G) (@
B) B @ 2 O B) B @ @ ()
©C @ 3 B (@) ©C @ B 6B @
D B B @2 @ D B G @ @

25 [P.T.O.



40.

41.

Motor Educability is generally

defined as :

(A) Proficiency in a particular

sport
(B)

High level motor fitness

(C) Ability to perform motor

movements

(D) Ability to learn different motor

skills quickly and easily

Normal probability curve is known

as :

(A) Leptokurtic curve

(B) Platykurtic curve

(C) Mesokurtic curve

(D) Positive skewness curve

40.

41.

MAY - 71316/II1—D

Y0 heh  ATIARNeAdEl SRSl

M hedl WA

(A) TERA el Yehirdial Fgorar

(B) S=d Uldedi=l ek Hgadl

(C) ek BIAaTel HIvIr=] &l

(D) fafay e = 98 9 e

IEIEAD IR

THH 9T 9/ 319 WU

(A) Zrher fyrerys

dsh

(B) Hue Rmeryss =ik

(C) 9da f¥rergss 9%

(D) ¥ fauHa 9%
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42. Given below are two statements one
labelled as Assertion (A) and the

42. fediean SH e T faum (A) 3T”

other labelled as Reason (R) :

Assertion (A) :

Recommendation
of a study should
indicate only the
scope of future
research and not
the scope of
practical
applications.

Reason (R) :

Recommendation
of a  study
indicates the
future wuse of
knowledge
obtained from a
study

In the context of the above two
statements, which one of the
following code is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

g Tk &I (R) 3R :

faam A) : oA frwEiEn
EXCr) afgsaraia

HINEAT=N AT T

e, T JETe

SIS FHITISE e 3.

wROT (R) : Sy rwrefiqs

of

gynemfafda  JrEmME

TSI el UM S 9ifaa

STl

’id S foremr= wevid @rmett feeien
HehdIehqd SHIUT dFd T 3Ts.

Hehdich :
(A) (A) 9 (R) I & a/gd (R)
(A) T ITT TR0 3T

(B) (A) I (R) Il 9 3T (R) ®
(A) = I TR R

(C) (A) 38 F Mg, Wg (R) § T
e

D) (A) FF 3R, W (R) T 39
e

27
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43.

44.

Which is not a standard score ?
(A) T-Score

(B) Percentile Score

(C) Sigma Score

(D) Beta Score

Match List I with List IT and select
the correct answer from the codes
given below :

List 1
@)
(1)

Two groups for comparison

Degree of relationship between

groups
Partial Correlation

(ii7)
(tv)

More than two groups for
comparison

List II
(1) Zero order correlation
(2)
3)
4)
5)
Codes :
(@)
A) 3)
B) 3
(ONE))
D) B)

F-ratio
t-ratio (uncorrelation)
Eliminating influence

Chi-square

(i1)
(1)
(1)
(1)
(1)

(u11)
(4)
2)
(4)
(4)

()
®)
(4)
(2)
(2)

43.

At

MAY - 71316/II1—D

TITATAdRT H107d 9HIfOId gredieh

R ?

(A) ‘&' UwR

(B) ¥@aH® WT<lieh

(C) T g

(D) sl Wik

IET 19 IRt 11 Sesed Ard 94 @reft

feeiean Heharemyd farer .
Bl

() TH TN gar

(i) TS HeHE FH

(i1i) 39 HedsY

(iv) SFYeN SAfYRh TereEl e
It 11

(1) I Hegay

2) ‘Tw’ W@

(3) ‘&' W (srEaElEa)

(4) 99E HIGT TR

(5) HE-THAIR
Hehdiah :

@ (@) @) (o)
A 3 O @ (5)
B) & O @ @
<€ 3 @O @ (2)
D & @O @ (@2

28
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45. Sexual students in a physical 45, A e S S—

education class are having difficulty

B Al UHT YU FEhe HI0I
reaching the basket with their shots,

even while using a smaller ball. TS ST, WeiTel ATEiieht R0 T

Which of the following options is

Toregrm e <ame fomnefl zeret
most appropriate for the teacher to

Bt 2

introduce to increase the students

success ?

(A) IHATA=AT TS HrAME TR

(A) Allowing students to use a

HLOIY QLT <0
balloon instead of a basketball

(B) Lowering the height of the (B) IrERTard =t <=t @

basket- ball ring

HL0
(C) Raising the height of the

basketball ring

(C) oThedld o=t 3= anefan

(D) Using a bouncy playground

ball (D) HEMER IHURT ofcd <07

29 [P.T.O.



46. The relationship between personal

47.

social skills and physical education

in class is accurately described by :

(A)

Direct instruction

(B) Personal, social skills learned at

home

©)

After fitness and motor skills are

developed

(D) Concurrently developed with

fitness and motor skills

The following parts comes under

general lesson plan :

(1) Formal part

(2) Individual feedback
(3) Recreational part

(4) Teaching technique
Select the correct option :
(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (3) and (4) are correct

(D) (1) and (3) are correct

MAY - 71316/II1—D

46. I TEMEN AR e 9 Safwes-

47.

TSR HRTeamEd Feure faesw
U HI A

(A) &l TR
(B) =0 ferrarell Safodes, QT
NI

~

(C) ggedl d &R hived fasmfad

EISRIEE

(D) gl d HIE Hived aa

THehTel forehTd

o

HAHIFA Ylol=dql [H4istld L\{,(‘:IQ’I HI

g :

(1) it

(2) IAfHTH TSRO
(3) FARSHMET YR

(4) 31T o

I g e
(A) (1) 3mfor (2) s’
(B) (2) mfur (3) SR
(C) (3) afir (4) =R
(D) (1) AT (3) e
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48. Match List I with List IT and select | 48. ¥Rt I 9 A&l II Seodd drd TAME Tt
the correct answer from the codes feeTean H'q?,qiohmff[ faeT
given below : a1

List I
® () TR A
(z) Penalty corner
({i) YRl T
(1) Penalty spot
GARIER
(iz11) Libero
(iv) o A
(iv) Baulk line
et 11
List II
(1) leftsile
(1) Volleyball
(2) HaSEN
(2) Kabaddi
(3) hedla
(3) Football
(4) Hockey (4)
Codes : Fehdich
@ G) Gii) () © @ @ @)
A 2 B3 @ @ A 2 B @ @
B 1 @ O3 4) B) 1 2 O (4)
<Cc @ @O O (2) © @ @O O (2)
D) 8 @ (@ (2) D) 3) 4 2)

31
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49. Given below one Assertion (A) and

49. oo 9 aRTdd T fauam (A) T®”

a Reason (R) :

Assertion (A) : Leg dynamo-
meter is used to

measure ankle

power

Reason (R) : Dynamometer
measures

strength.

In the context of the above two
statements, which one of the

following code is correct ?
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) Only (A) is true and (R) is

false

(D) Only (A) is false and (R) is

true

9 Th SR (R) T8 :

fagam™ (A) : A7 SEAHIHEET 9w

-~

AT dlehald |

HLOIES Bl

&HRUT (R) : SEHIHA kg ArSTdl
Iq.

e Sl fasmren St @l foeien

HhAMRIqT HIVAT A7 I SR 7
Hehdich :

A) <= (A) 9 (R) ¥ 3R

(B) T (A) T (R) 34 IR

(C) & (A) ¥ 3 d (R) 19HA

Sl

(D) ® (A) 39T 3@ 9 (R) 9

Sl

32
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50. While throwing a Discus, the

50. Tl HahdMl Weelg, eesle e

thrower snaps the wrist sharply at

QOIS TEet HATSTE SR $2ehT ol
the end to spin the Discus. This spin

o1 ARehIHe 9Tedl Hhehldie STaX o STehdl
helps the Discus to increase distance

and accuracy in throw because : o8 e

(A) The spinning Discus creates (A) W ﬁ'{chﬁ'l\i& I E e [0%) @57.1 T-ﬁ‘

turbulence which provides lift

TR IIAAT S

(B) The spinning Discus acts as a

(B) TRt B SO A1l TMEehid-

gyroscope which increases its

THTO h1H id feerar dmefad

stability
(C) The surface of the Discus (C) oTebten Ys3um 3if¥re wreivr fmfoy
produces more friction to give > S @ NN

it more lift

(D) fr=t B areiges fAat
(D) The kinetic energy of spinning

BIORT ISt 3 fael Ygse 9

Discus imparts more horizontal

propulsion H% Eheld

33 [P.T.O.



51.

52.

The contents of training in

preparatory period should be of :

(A) Low intensity and low volume

of load

(B) Low intensity and high volume

of load

(C) High intensity and low volume

of load

(D) High intensity and high volume

of load

In which type of the following sports
there are more possibilities of
achieving highest performance

before puberty ?

(A) Strength dominated sports
(B) Endurance dominated sports
(C) Speed dominated sports

(D) Technique dominated sports

51.

52.

MAY - 71316/II1—D

TIRAT hIcEaea FRT0m=r SR &

(A) YR=N T digar o &HE GH

(B) 9= Sl dfgdr 9 ST FHIO0

(C) Y= 3= digal o el A

(D) YRR 3=9 digar o 3= YA

GRTSTaRIqela ST HISETEHES

Tated hIH WU Il AR

TEd ?

(A) ¥ FISHEN ARSI TWE ek
7Tl

(B) ST HieHEd THSRYUITET YTd
Afyer 2 79al

(C) I HISHE A=l Y49E Afeen
Tl

(D) ST HISHES TAT GUTT 3Tferh
Tl
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53. From the training point of | 53. Wfemm=n IfcHMANA TeidUH! HME
view, which of the following is most Haid Hewe e ?
important ? (A) 9R arefE
A) Loadi
(A) Loading B) TR
(B) Recovery ©)
(C) Fatigue
(D) R
(D) Compensation - .
P 54. eiercdss gfwIAmed Ar=ar GHIE
54. Cognitive process consists of : A
(1) Sensation 1) ¥
(2) Thinking 2 f
(3) Perception 3) ey
(4) Problem Solving -
(4) HHHT TR
Identify the sequence :
Y 1 wH Tfv=d *u
A 1 B @ (4)
A 1 3 @ (4)
B 2 @ @O O
B 2 @ @O O
C @ @O @3 (2)
©c @ O B (@
D) 3 2 @ (1)
. . e D 3 2 @ @
55. Which of the following activities are .
considered an open skill ? 55. EIRIICTIehT HIOMCT ST HH hRTeHT
. A 3T ?
(A) Bowling
: (A) shfer
(B) Putting a Golf ball
(C) Batting in a cricket game (B) Teh =id e &
(D) Shooting a basketball free ©) =
throw (D) sTheaia e Wl Al
35 [P.T.O.



56. Which of the following is the best

57.

activity to increase muscular

endurance ?

(A) Resistance training using high

repetitions and light weight

(B) Resistance training using low

repetitions and heavy weight

(C) Isotonic resistance training

(D) Plyometric resistance training

If learning in situation ‘A’ has a
detrimental effect on learning in

situation ‘B’, then we have :

(A) Positive transfer

(B) Negative transfer

(C) Zero transfer

(D) Bilateral transfer

56.

57.
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qEeTdeh] T TAGRITT (U Fad

SUYKI SUHH IV ?

(A) ®HE g9d g9 Afgs wEdara

gfaae wfyreror

(B) s1ferses w9 9 &HT AT AT

EIRNCERIN L
(C) saERIeh gfaly wfereo
(D) wEHfess gfade ke
‘o1" qRfeerdiar stezeAEn ‘o g
STeEEER foada 9o e, § 319

TS

(A) &7 FhHo
(B) =T GHAT
(C) A HHH

(D) fguefm dshHor
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58. A student is most likely to be self-

58. WEnel faemel wWHaf@ ®rsd oo

motivated and participates in life

long activities when the student :

(A) Participates in physical activities

several times a week at school

(B) Understands the effects of

physical activity versus non-

activity

(C) Knows the rules and
understands a wide variety of

team sports

(D) Possesses the knowledge, skills

and attitude to lead a healthy

lifestyle

YRR U TEUTT Svar= STl

A g1 @ forameff -

(A) TMBHELD ATSISATT 3Tk sl

TR SUHHd Feurtt Bl

(B) IRiReh gshiaae 9 feshiaae giom

STTOTRR

(C) Tr=m v 9 fafay wifoes T

ST

(D) AT eI SHToIEe! 1M,

HRET F AR ST
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59.

60.

Which type of learning experiments
shows how the behaviour of animals
can be controlled or shaped in a
desired direction by making a

careful use of reinforcement ?
(A) Classical conditioning
(B) Operant conditioning

(C) Latent learning

(D) Sign learning

Sideways bending of trunk is an

example of movement in :

(A)

Frontal plane and sagittal

axis

(B) Sagittal plane and sagittal

axis

(C) Frontal plane and transverse

axis
(D) Sagittal plane and vertical

axis

59.

60.
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FHIVCT ST YA TSI dal

JeIATEl Ao, WTUI=AT Sd-Te). STUfard

~

ch Al

fegm e 9 9w TS

S ?

(A) sfEfed stfem
(B) foramoea eifurem
(C) 3The 3TeT

(D) Hiehfaesr 3794

o N

e dNcll dleh(qul,

& Jmed g

NREIRIEREARSC S

(A) Hed Ydd 9 dfsled A

S0

dlisiced Hddd

(B) g dfeled 318l

(C) Hhed Jaa 9 IrEad A&

20

dlisiced Hddd

(D) 9 afdhd 3T
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61. The inertia of an object tends to | 61. TgIae e, YgIUld ¥ H0AE YIw
cause the object : el
(A) To increase its speed
P (A) AT U™
(B) To decrease its speed
(B) a7 &l H0AH
(C) To resist any change in its state
. (C) Tifqam Teerdia sceten fajig &0l
of motion
(D) To decelerate due to friction (D) ©SUTHeS AT HH HO
62. Kinetics is the study of : 62. ‘A’ AR SV SR
(1) Impulse (1) =HIH
(2) Velocity (2) o
(3) Force (3) &
(4) Acceleration (4) O
Find the correct combination. I TehIhIo (IT) INe :
(A) (1) and (2) A) (1) 9 (2)
(B) (2) and (3) B) 2) 9 3)
(C) (2) and (4) C) (2) 9 4)
(D) (1) and (3) D) (1) = (3)
39 [P.T.O.



63.

64.

65.

An athlete runs some distance

before taking a long jump
because :
(A) He gains energy to take him

through long distance
(B) It helps to apply large force

(C)

By running, the reaction force

increases

(D) By running, the athlete gives

himself larger inertia of motion

When a net force acts on an object,
the object will be accelerated in the

direction of :

(A) The force on the object
(B) The velocity of the object
(C) The mass of the objects
(D) The inertia of the objects

Identify the spin in a ball moving

high and slow after rebound :
(A) Left spin

(B) Top spin

(C) Right spin

(D) Back spin

63.

64.

65.
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e IS Weolg HIE! SR g ISt
Hdll, RO

(A) 3Tfes e TR HTIUIES] SR St
fraafam

(B) 31fyeh 9 AEUId Hed

(C) HEedes fafshan el ded

(D) HacaHe Beolg w@d:al Afes
TNTHM Sed W e odl

Segl THU o TERAl Ueleier
I Jegt i wered A feve wford g

(A) TETUfaY HTd HIM=IT TATH]

feom

(B) UgTeiay T HIOT=AT ATTEAT

ez
(C) uRIar=n SxqAET= fogH

(D) ugTut= Seware fogn
Ti3Ue B T o 39 AUA HSHE

AR IRt oTEd -
(A) STl et

(B) 2fa fient

(C) Sorell fiment

(D) ek Tt
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66. Which of the following statements
66. Teicden! HIv faeM ferd=n Tom=

best describes the principle of

7
stability ? A T F

(A) The higher the centre of gravity
(A) TSIGeRT TrRTYd STERHE ToweHed

to the base of support, the

greater the stability 39, fodent feegar s

(B) The nearer the centre of gravity
(B) foider g SATEN=AT S

to the edges of the base of

support, the greater the oY, fdadeh! feear S

stability
(C) foaert wrmyd emeR stee, faaeht

(C) The narrower the base of

support, the more stable the

body
(D) fSaert drmya emeR %%, fadeet
(D) The wider the base of support,

the more stable the body

41 [P.T.O.



67.

68.

In order to prevent heat loss before
performing in cold weather, a team
sticks or remains close with each
other to share body heat. This could
best be described as heat gain

via :

(A) Conduction
(B) Radiation
(C) Evaporation
(D) Convection

Read and analyse the following

statements :
Statement (1) :

Water is the electron donor for non-

cyclic photophosphorylation.
Statement (2) :

Both ATP and NADPH, are
synthesized during cyclic photo-
phosphorylation.

Find the correct combination :
Codes :

(A) Both (1) and (2) are correct
(B) Both (1) and (2) are wrong
(C) (1) is correct but (2) is wrong

(D) (1) is wrong but (2) is correct

67.

68.
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o FAHMME HIATHAMISTET IO
T AR §9E Gleelg, Hal
HEflel IOl feshe[d SUATHIS] Teh-

FehISTaes Jard. a1 SO WTwiten o
RUdd

(A) a

(B) faferzo

(C) arsdisfe

(D) 9shHU

feorer faum arE fowermm & .
faam (1)

STAHIT RIS HICRIALTHE qoft &
forg@ aRATOET < ST
hRUT (2) :

Feh!d BIRIGBERIRGYH T Sl U
A 7 WA R, = FR E

g TR (3T) e ¢

i

(A) = (1) =nfor (2) oTgF oTRA
(B) R (1) anfor (2) gohta aTa

(C) (1) Igsh R, U (2) FH
3e

D) (1) g% A2, U (2) IH
3T

42



MAY - 71316/II1—D

69. Match List I with List IT and select | 69. ot I 9 4=t II Je3ad ard qatd @eft

the correct answer from the codes

given below :

o

foeiean Hehdiemegd farer :

RIC |
List I
(i) hed HHhd
(z) Krebs Cycle
(i) W i
(z1)) Synthesis of ATP
({ii) TATRITATH

(zi1) Glycolysis
(tv) Light reaction
List II
(p) Cytoplasm
(g) Grana
(r) Fy-F, particle
(s) Mitochondrial matrix
Codes :

@ @ @) (o)
@A ) o @ @
B) @ @ @ 6
© @ @ & @

D s @ @O (@

(iv) FehTIM= Fishan
B |

(p) Ui

(@) T

(r) Thy-TF, F

(s) WFSRI-SIsTd Hicad

Hehdich :
@ @) @) Gv)

A 6 »n ® @

B ©» @ @ 6

© @ @ 6 O

M ) @ © (@
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70. Number of Og molecules required for | 70, siffras wfeq yaamed TohIST= TH
the oxidation of one molecule of T e e e
glucose during aerobic respiration . .

SRS I HeA
is :
A) 2
(A) 2
(B) 4
(B) 4
(C) 6 (C) 6
(D) 8 (D) 8

71. In a normal Cardiac cycle : 71. Tkl HHA BTk

(A) Right atrium systole precedes (A) =T wivis= o (etisg=r)
left atrium systole e Ieqr wHfvidw=r fawid

(B) Right ventricular ejection =
precedes left ventricular ejection (B) A1 Akl TR Scalqul oAl
in expiration STaIfehT ScaTqumaTE Bidt

(C) Pulmonary value closes before (C) STH=sTHl FeT g Aot Hea
aortic valve in expiration FST & B

(D) Left ventricle ejection starts (D) FT& SEfThdE ST IS
after right ventricular ejection B &
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72.

73.

During exercise the local metabolic

control is most important in

determining flow of blood to :

(A) Skin

(B) Lung

(C) Kidney

(D) Skeletal muscle

The condition which must draw first

aider’s immediate attention on

seeing the casualty is :

(A) Swelling of the limb

(B) Severe bleeding

(C) Shivering

(D) Fracture

72.

73.

MAY - 71316/II1—D

AT, T+ =raad e =

fgehTUr= RYaTe iv=d vt §

g 3T9d
(A) &=

(B) &Y

(C) FAfTS

(D) FFTEA™ T

STETHT Sadiell qTedietvil, FIHiTear
JUTATE AT @el A1 feerdies
I

(A) STEA g Fo

(B) il TS

(C) HZHST

(D) e
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74.

75.

One trait that dominates a
personality so much that influences
nearly everything a person does is

a:
(A) Global Triat

(B) Cardinal Triat
(C) Central Triat

(D) Specific Triat

In an opening ceremony of a
Sporting Event where salute is to
be given by the teams arrange the

following items in order :
(1) Assembly of Teams

(2) Oath taking by Captain
(3) March Past by Teams
(4) Flag Hoisting

The correct sequence of the above

events shall be :

A () @2 3) and 4)
B) 1) B3 @) and (2)
€ 1) @ 3 and (2)
D) 1) B (2) and (4)

74.

75.
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TG ol S hidl, o el quTa

FHLOM A=l Teh ﬂvﬁ%rﬁsr el
AR

(A) STrfaes orfesy

(B) g&1 Toiferr

(C) Headl TorfasmS

(D) faferse wqorferg

Siead= IgEeATIETN w1 foeRTolt
T e qaeE= 3T6d, ddia gerd

TS AMY HH AT

(1) 9o= ThiAHI

(2) HEARIHSA FfasT

(3) W HeeH

(4) He1 I

el WG ArE STHRH § STE
A @O 2 B T @

B 1 & @ T @

C 1 @ G T (2

O @®» B @ T @
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